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LINEAR EQUATIONS AND INEQUATIONS

1.If 2z + 10 = 40, find the value of x

o Watch Video Solution

2.Solveforz:bx — 8 = 3z + 22

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CK1urD5rjKUx
https://dl.doubtnut.com/l/_fR0H0WnHXgf3
https://dl.doubtnut.com/l/_jdaKNYPv8QzG

3. A teacher has 45 chocolates. After giving two chocolates to each
student, she is left with 7 chocolates. How many students are there

in the class ?

o Watch Video Solution

4.If 4 + 3y = 25 and 5z + 2y = 26, then find the values of x and

o Watch Video Solution

5.If 3z — 2y = 12 and 6z + y = 9, then find the values of xand y

o Watch Video Solution

6.Solve 4z 4 5y = = 37 and 5z + 4y = 35



https://dl.doubtnut.com/l/_jdaKNYPv8QzG
https://dl.doubtnut.com/l/_eXTMqGDlDNQ3
https://dl.doubtnut.com/l/_ONn7QtYIfjGG
https://dl.doubtnut.com/l/_eI0Wpt2S83qe

| ° Watch Video Solution

7. Plot the following points on the co-ordinate plane:

A(3a 5)73(27 _4)70( - 2a 7)7D( - 3a _4)aE(Oa - 5) and F(57 0)

o Watch Video Solution

8. Plot the following points on the coordinate plane. What do you

observe ?

(a)(—2, _3)7(_17 _3)7(0’ _3)’(27 _3)


https://dl.doubtnut.com/l/_eI0Wpt2S83qe
https://dl.doubtnut.com/l/_Urj5q0GdXHnO
https://dl.doubtnut.com/l/_LeONM3dourCl

(b) (5,3), (5,2), (5, 1), (5,0), (5, — 1)
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o Watch Video Solution

9. Plot the following points on the coordinate plane and what do

you obseve ?

(—3,3,(—-2,2),(—-1,1),(0,0), (1, —1),(2, —2),(3, —3)

o Watch Video Solution



https://dl.doubtnut.com/l/_LeONM3dourCl
https://dl.doubtnut.com/l/_WTFNX1EOMcrn

10. Draw the graph of the equation y = 3z where R is the

replacement set for both xand y

o Watch Video Solution

1. Draw the graph of the equations  +y=4 and =z — y = 2.

What do you notice ?

° Watch Video Solution

12. Solve the following equations x +4y =2 and 4z —y = — 9

by the graphical method and check the result

° Watch Video Solution



https://dl.doubtnut.com/l/_h4Gb5DetLAq8
https://dl.doubtnut.com/l/_BkihaX0Mx26E
https://dl.doubtnut.com/l/_y3qPX8SpynNE

13. Find out the number of solution for the following equations

3x + 4y =89x + 12y = 24’

o Watch Video Solution

14. Find out the number of solutions for the following equations:
4z + 5y = 20

8z + 10y = 30

° Watch Video Solution

15. The sum of two numbers is 30 and the larger number exceeds

the smaller by 6. Find the numbers

o Watch Video Solution



https://dl.doubtnut.com/l/_Vs7M0h2OOc5n
https://dl.doubtnut.com/l/_QKUNLuPX8lpm
https://dl.doubtnut.com/l/_AIuVgI9ISe7M

16. In a fraction, if unity is added to the numerator and subtracted
2

from the denominator, it becomes 3 Instead, if unity is subtracted

from the numerator and added to the denominator, it becomes 7

Find the fraction.

o Watch Video Solution

17. The sum of the digits of a two digit number is 8. If 18 is added to
the number, then the resultant number is equal to the number
obtained by reversing the digits of the original number. Find the

original number

o Watch Video Solution

18. Four years ago, age of a person was 4 times that of his son. Six

years later, the age of the person will be 10 years less than thrice the


https://dl.doubtnut.com/l/_zJtUHYfbRrvX
https://dl.doubtnut.com/l/_KuHkF3Cn70d4
https://dl.doubtnut.com/l/_ynDFDghwMr9q

age of his son. Find the present ages of the person and his son

o Watch Video Solution

19. For what values of k is the set of equation

2z — 3(2k — 1)y = 10 and 3z + 4(k + 1)y = 20 are consistent ?

° Watch Video Solution

20. Solve the following inequations :
(a) bxr —3<12, X € N (b) 2r —4<4,z<c R (c)

3r —1>b,x e Z

° Watch Video Solution

21. Represent the following inequations on the number line

@)z > —2


https://dl.doubtnut.com/l/_ynDFDghwMr9q
https://dl.doubtnut.com/l/_IFPSuCClyhYH
https://dl.doubtnut.com/l/_pjomxkGpIcaQ
https://dl.doubtnut.com/l/_wLBTseYF14t2

o Watch Video Solution

22. Represent the following inequations on the number line

z <3

° Watch Video Solution

23.Draw the graph x > 1 in the cartesian plane

o Watch Video Solution

24.Draw the graph of y < 2 in the Cartesian plane

° Watch Video Solution

25.Draw the graph £ — y < 1in the cartesian plane


https://dl.doubtnut.com/l/_wLBTseYF14t2
https://dl.doubtnut.com/l/_EXkr9XLMcv4d
https://dl.doubtnut.com/l/_2ODRn7tiBpJe
https://dl.doubtnut.com/l/_1qyVHPlFul41
https://dl.doubtnut.com/l/_PruB5QDp2eCs

o Watch Video Solution

26.Draw graphof x < —y

° Watch Video Solution

27. Construct the region represented by the inequation

x+3y>3and 3z +y <3

o Watch Video Solution

28. Construct the region represented by the inequations

2r+y<2and z —3y <3

° Watch Video Solution



https://dl.doubtnut.com/l/_PruB5QDp2eCs
https://dl.doubtnut.com/l/_CuldKejSgWud
https://dl.doubtnut.com/l/_4Vg02X3I3zXL
https://dl.doubtnut.com/l/_cQFecBAIlhBg

29.Solve |2z — 3| < 5

o Watch Video Solution

30.Solve |3z + 2| > 7

o Watch Video Solution

31.Solve |5z — 7| < — 18

° Watch Video Solution

32. Find the solution set of <0

20 — 4

° Watch Video Solution



https://dl.doubtnut.com/l/_PF317M74GSrJ
https://dl.doubtnut.com/l/_nv3ao6nsGlKs
https://dl.doubtnut.com/l/_CyODzQfBKvqh
https://dl.doubtnut.com/l/_dAH8m8Fg87Uq

33. Person A can assemble 10 machines per hour and Person B can
assemble 15 machines per hour. Person A works for x hours per day
and Person B works for y hours per day and both the persons
together can assemble at the most 200 machines in a day. Frame

one inequation to represent the above data

° Watch Video Solution

34. Find the two whole numbers such that their sum is utmost 10

and the difference is atleast 4 and also the resultant sum is

maximum

° Watch Video Solution

Very Short Answer Type Questions


https://dl.doubtnut.com/l/_xlopLhA0Dzem
https://dl.doubtnut.com/l/_RvBLrxYZMAYr

1. The system of equation a+b=3 and 3a+3b=9 is

(consistent/inconsistent)

o Watch Video Solution

2. The equation px + qy + r0 and kpzx + kqy + kr = 0 are

(dependent/inconsistent)

° Watch Video Solution

3. If the equations 4z + py = 12 and gz + 3y = 6 are dependent,

then the value of p and g are __ and respectively

° Watch Video Solution

4.If 2z 4+ 3y = 10 and 3z + 2y = 5, then value of x + yis _



https://dl.doubtnut.com/l/_Cx6yh25l5RGo
https://dl.doubtnut.com/l/_7KrBID5biPGA
https://dl.doubtnut.com/l/_sGJjZeV83o2i
https://dl.doubtnut.com/l/_N06c4Q55wpQE

| o Watch Video Solution

5.1f 2z — 3y = 0, then the value of 2z 4 3y in terms of yis

o Watch Video Solution

6. The equations % + Yy_ 1and % + % = 1 are inconsistent if

b

o Watch Video Solution

7. 1f sum of two numbers is 10 whereas their difference is 4, then the

greater numberis

o Watch Video Solution

8.1fa + 2b + 3c = 20 and 2a + 4b + ¢ = 25,then c =


https://dl.doubtnut.com/l/_N06c4Q55wpQE
https://dl.doubtnut.com/l/_VMkF7LhIOnes
https://dl.doubtnut.com/l/_XB5f8RTsptMs
https://dl.doubtnut.com/l/_957VMmcJKmgQ
https://dl.doubtnut.com/l/_73Hzzx9IovSf

o Watch Video Solution

9.1f 2a + 3b + 4¢c = 35 and 3a + 5b + 7c = 30, thena + b+ c¢c =

° Watch Video Solution

10. If a > b, then e < 2 for all a, b and ¢ € R, where ¢ < 0.
c c

(True /False)

o Watch Video Solution

M. If a >b, then ac > bc for all a, b and ¢ € R, where ¢ > 0.

(True/False)

o Watch Video Solution



https://dl.doubtnut.com/l/_73Hzzx9IovSf
https://dl.doubtnut.com/l/_VaYZgMW05Y3w
https://dl.doubtnut.com/l/_JpKXzsVchBHB
https://dl.doubtnut.com/l/_bqxrpXi3Xm47
https://dl.doubtnut.com/l/_PrpTHDCp2vCM

12. The number of common integral solutions of the inequation

x> —5and x < bis____

o Watch Video Solution

13. The solution set of ax +by+c <0 if ¢ <0 is the

(region that contains (0,0)/region that does not contains (0,0))

o Watch Video Solution

14. Solution set for the inequation

].
>0.
|S

o Watch Video Solution

15.1f z + y < 5,then either x < 5 or y < 5 or both (True/False)

° Watch Video Solution



https://dl.doubtnut.com/l/_PrpTHDCp2vCM
https://dl.doubtnut.com/l/_xl0yfMciw8XY
https://dl.doubtnut.com/l/_2gfIgF0yvCeD
https://dl.doubtnut.com/l/_Z3ogNiA3JYKq

16. If the system of linear equations is inconsistent, then

solution set is infinite. (Agree/Disagree)

the

° Watch Video Solution

1 1 1
17.1f = — and
x+y 2 x—y

1
= —,thenx=
3 e e e

o Watch Video Solution

18.Ifa + b = c and a — b = d, then the value of bis . (In terms

of cand d)

o Watch Video Solution



https://dl.doubtnut.com/l/_Z3ogNiA3JYKq
https://dl.doubtnut.com/l/_R5nijKGHJB7I
https://dl.doubtnut.com/l/_lRGlAjWtSeHW
https://dl.doubtnut.com/l/_4FELyUA1DRhp

19. Every system of dependent equations is consistent. Is the

converse always true ?

o Watch Video Solution

20. For how many pairs of non-zero integers,

x+y=0and z—y=207?

o Watch Video Solution

21. Any line in a plane divides the plane into three disjoint parts.

(True/False)

° Watch Video Solution

22.Ifx +y <7 and z — y < 3,then x < 5. (True/False)



https://dl.doubtnut.com/l/_OmWpCbZWObmz
https://dl.doubtnut.com/l/_BkrfBRgQhQQO
https://dl.doubtnut.com/l/_ywIXf66hCdeX
https://dl.doubtnut.com/l/_Y5BAxEj6Zmpy

| o Watch Video Solution

23.Boundary line for theregiony < x +4is

o Watch Video Solution

24. Inequation that represents the following graph is

T R "
5 -4 -3 -2 -1 @
e
i,

° Watch Video Solution



https://dl.doubtnut.com/l/_Y5BAxEj6Zmpy
https://dl.doubtnut.com/l/_i8Eiwa419h3v
https://dl.doubtnut.com/l/_UPn3s4AnXYgK

25. The number of solution for the simultaneous equations

3z + 4y = 12 and 4z + 3y = 18is

° Watch Video Solution

26. If the cost of 2 chocolates and 3 biscuits is Rs 55 and that of 4

chocolates and 6 biscuits is Rs 110, then the costs of one chocolate

and one biscuit are necessarily Rs 20 and Rs 5 respectively

(True/False)

o Watch Video Solution

open sentence which

or > iscalledan

contains the  symbol

o Watch Video Solution



https://dl.doubtnut.com/l/_UPn3s4AnXYgK
https://dl.doubtnut.com/l/_HPwYRGdNSWbw
https://dl.doubtnut.com/l/_6iiDJCbHnpZy
https://dl.doubtnut.com/l/_1CSrelJYWUwL

28.I1f £ > a and = > b (where a > b), then the solution set of the

inequations is

o Watch Video Solution

29. Common region for the inequations z <y and y < x is _

o Watch Video Solution

30. Inequations that represents the shaded region of the following

graphis


https://dl.doubtnut.com/l/_1CSrelJYWUwL
https://dl.doubtnut.com/l/_1ZIkDscE5fuJ
https://dl.doubtnut.com/l/_8wb4wxcITEZx
https://dl.doubtnut.com/l/_ZEjDUnjGvRWk
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o Watch Video Solution

Short Answer Type Questions

22
+ 2(a — b) = 11,
a + a +

1. Solve:

b—l—3(a—b):17

o Watch Video Solution



https://dl.doubtnut.com/l/_ZEjDUnjGvRWk
https://dl.doubtnut.com/l/_ov1cBEFIL86H

2. If pr +qy+r =0 and gz + py +r = 0(x # y), then show

—r —r
that the value of x 4+ y is 7 or —
q

o Watch Video Solution

3. Find the value of x, if 2x 4+ 3y + k = 12 and x + 6y + 2k = 18

o Watch Video Solution

4.In a fraction the denominator exceeds the numerator by 8. If unity
is deducted from both the numerator and the denominator, the

3
fraction becomes = Find the fraction

° Watch Video Solution



https://dl.doubtnut.com/l/_EpQTzTQiXljA
https://dl.doubtnut.com/l/_M7Bl4vWdXoLU
https://dl.doubtnut.com/l/_XL7UfUNiIp6z

5. Father's age is 3 years more than thrice the son's age. After 5
years, father's age will be 12 years more than twice the son's age.

Find the father's present age

° Watch Video Solution

6. Sum of successsors of two numbers is 40, whereas their

difference is 6. Find the two numbers

o Watch Video Solution

7.1fz 4+ y < 2 and y = 2z — 7, then find the range of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_Yj0bSyv7KBW4
https://dl.doubtnut.com/l/_fdaCuqWJsUQk
https://dl.doubtnut.com/l/_09EyR29Y2xGT

8. Which of the following points belong to the region represented
by the inequations 2x — 3y > 5 and * — 2y < 37

(a) (3,0)

(b) (—4, —4)

(o) (3, — 5)

(d) (2, —2)

(e) (5,1)

° Watch Video Solution

9. Find the number of solutions for the inequations

x + 1y < 8 and 2x + y < 8. (where x and y are positive integers)

o Watch Video Solution



https://dl.doubtnut.com/l/_Y2pTuMZoa9jb
https://dl.doubtnut.com/l/_oxmwMFeqT004

10. If the cost of 2 pencils and 3 erasers is Rs 14. Wheras the cost of
3 pencils and 5 erasers is Rs 22, then find the cost of one pencil and

one eraser

o Watch Video Solution

11. The sum of the digits of a two digit number is 7. If 9 is added to

the number, the digits interchange their places. Find the number

o Watch Video Solution

12. Harry has Rs 2 and Rs 5 coins with him. If he has a total of 33

coins worth Rs 120 with him, how many Rs coins does he have ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CFbdGooaSmck
https://dl.doubtnut.com/l/_UJmqJXgYw5Mr
https://dl.doubtnut.com/l/_BsGZX4LcHEsC

13.If

< 1,then show that x does not lie fromytoy + 1
-y

o Watch Video Solution

14. Shade the regions that show the solution set of the following
inequations :

@)z >3

)z >4,y<4

o Watch Video Solution

Essat Type Questions


https://dl.doubtnut.com/l/_kRQZKViMgEgG
https://dl.doubtnut.com/l/_9PPcgj3aKhcG

1. There are some chocolates with Tom and Jerry. If Tom gives certain
number of chocolates to Jerry, then the number of chocolates with
them will be interchanged. Instead, if Jerry gives same number of
chocolates to Tom, then the number of chocolates with jerry will be
one-fourth of the number of chocolates that Tom has. If the total
number of chocolates with them is 100, then find the number of

chocolates with Tom

o Watch Video Solution

2. Solve the system of inequations graphically

r+2y<6,2r+y>6and x <4

o Watch Video Solution



https://dl.doubtnut.com/l/_AplyPQnnYNmR
https://dl.doubtnut.com/l/_rw9ZRryKKXyk

3. Find the two natural numbers so that their sum cannot exceed 6
and the difference between first and second number is positive and

does not exceed 2 and also the resultant sum is maximum

o Watch Video Solution

4. A test has 150 questions. A candidate gets 2 marks for each
correct answer and loses 1 mark for each wrong answer and loses 3
mark for leaving the question unattempted. A student score 165

marks. If the student left 18 questions unattempted, find the

number of questions he marked wrong.

° Watch Video Solution



https://dl.doubtnut.com/l/_UWYAzY1wDtOf
https://dl.doubtnut.com/l/_OP9hYwKZG5OW

1. How many pairs of x and vy satisfy the equations

2r + 4y = 8 and 6z + 12y = 247

A0

B.1

C. Infinite

D. None of these

Answer: C

o Watch Video Solution

2. Find the value of 'k’ for which the system of linear equation

kx + 2y = 5 and 3z + y = 1 has zero solutions

Ak=26

B.k=3


https://dl.doubtnut.com/l/_ZD5efdD89EPN
https://dl.doubtnut.com/l/_dwtWyfDEzwpG

Ck=4

D. None of these

Answer: A

o Watch Video Solution

3. Find the minimum value of |z — 3| + 11

A.8
B. 1

C.0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dwtWyfDEzwpG
https://dl.doubtnut.com/l/_db2E2HsoAMmH
https://dl.doubtnut.com/l/_6ldWpfUfT8BO

4. The maximum value of 23 — |2z + 3| is

A. 20
B. 26
C.17

D. 23

Answer: D

° Watch Video Solution

5. The product of a number and 72 exceeds the product of the
number and 27 by 360. Find the number

A 12

B.7

C.8


https://dl.doubtnut.com/l/_6ldWpfUfT8BO
https://dl.doubtnut.com/l/_XjJWEjLdLgtR

D. 1

Answer: C

o Watch Video Solution

6. The total cost of 10 erasers and 5 sharpeners is at least Rs 65. The
cost of each eraser cannot exceed Rs 4. Find the minimum possible
cost of each sharpener

A.Rs6

B.Rs 5.50

C.Rs 5

D.Rs 6.50

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XjJWEjLdLgtR
https://dl.doubtnut.com/l/_6FI9xKdsIuB9

7. If the system of linear equations pz + 3y = 9 and 4z + py = 8

has unique solution, then
Ap= — +23
B.p# — + 32
Cp# — +23

D.p= — +3¢2

Answer: C

o Watch Video Solution

8.1n a group of goats and hens, the total number of legs is 12 more

than twice the total number of heads. The number of goats is

A.8


https://dl.doubtnut.com/l/_6FI9xKdsIuB9
https://dl.doubtnut.com/l/_ztmQKXxV91DR
https://dl.doubtnut.com/l/_8loKp8IJPHSY

B.6

C.2

D. Cannot be dtermined

Answer: B

° Watch Video Solution

4+ 3
z —3

9.If < 1, then which of the following cannot be the value of

X?

A0

B.1

C.2

D.4

Answer: D



https://dl.doubtnut.com/l/_8loKp8IJPHSY
https://dl.doubtnut.com/l/_6it5rtYhVBNG

° Watch Video Solution

10. The system of equation px + 4y = 32 and 2qy + 15z = 96 has

infinite solutions. The value of p — q is

B.1
C.0

D. 1

Answer: A

o Watch Video Solution

1. If x and y are two integers where x > 0 and y > 0, then the

number of ordered pairs satisfying the inequation 2z + 3y < 1 is


https://dl.doubtnut.com/l/_6it5rtYhVBNG
https://dl.doubtnut.com/l/_3tafB7539vZn
https://dl.doubtnut.com/l/_Zbvmevui5GZQ

A1l

B.2

C.3

D.4

Answer: A

° Watch Video Solution

12. The common solution

N

>4
2
A{(z,y)/z <2 and y > 2}

B.{(z,y)/z <1 and y > 1}

C.an empty set

<land x+y>2is___

set

of

the

inequations


https://dl.doubtnut.com/l/_Zbvmevui5GZQ
https://dl.doubtnut.com/l/_TmgpeqhVzJAl

D.{(z,y)/z < 2 and y < 1}

Answer: C

o Watch Video Solution

13. If (1, 4) is the point of intersection of the lines

2z 4+ by = 6 and 3y = 8 4 az, then find the value of a — b

A2

B.3

C.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TmgpeqhVzJAl
https://dl.doubtnut.com/l/_gKCxFkHNw47W
https://dl.doubtnut.com/l/_xD7xIuDdvi6q

14. If x be a negative integer, then the solution of the inequation
1<2x +8<11lis

A{-5 -3, —4, -2 —1}

B.{—4, — 2, —1}

c{—-6, -3, —1}

D.{—3, —2, —1}

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xD7xIuDdvi6q
https://dl.doubtnut.com/l/_2grY1zUzJQ7G

D.(1,2)

Answer: C

o Watch Video Solution

16. Solve the

equations

4(2°71) +9(3¥"") =17 and 3(2%) — 2(3Y) = 6

A (z,y) = (2,1)
B.(z,y) = (—2, — 1)
C(z,y) = (1,2)

D. (xay) = (2a - 1)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2grY1zUzJQ7G
https://dl.doubtnut.com/l/_bBphvXXd32K3
https://dl.doubtnut.com/l/_oD1F5nIsBDCh

) 2 3 3 4 )
17.The solutionsetof — + — =2 and — + — = 20is
z (] T (]
A (4, —2)
1 1
. - 5, Z
C.(2, — 4
5 1 -1
\4’ 2
Answer: D

o Watch Video Solution

18. Cost of 5 pens and 7 note books is Rs 82 and cost of 4 pens and 4

note books is Rs 52. Find the cost of 2 note books and 3 pens

A.Rs 34.50

B.Rs 30.50

C.Rs 32,50


https://dl.doubtnut.com/l/_oD1F5nIsBDCh
https://dl.doubtnut.com/l/_0FkJlZsNVzd9

D. Rs 36.50

Answer: B

o Watch Video Solution

19. If (a+0b,a—0b) is the solution of the equations

3z 4+ 2y = 20 and 4x — by = 42, then find the value of b

A8

D.5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0FkJlZsNVzd9
https://dl.doubtnut.com/l/_fJvdilLzWkGA
https://dl.doubtnut.com/l/_ij3FLP8H8fnw

2

2
20. If 0 < < < 7 and x is an integer, then the sum of the

greatest and the least value of x is
A9
B.10
C.6

D.12

Answer: D

o Watch Video Solution

21. Number of integral values of x that do not satisfy the inequation

_7
z_g >0is
A 4

B.3


https://dl.doubtnut.com/l/_ij3FLP8H8fnw
https://dl.doubtnut.com/l/_vmux2MaR1jAU

C.2

D.O

Answer: B

o Watch Video Solution

22. The solution set  formed by  the regions

z +y>7T7and x +y < 10in the first quadrant representsa ___

A. triangle

B. rectangle

C. trapezium

D. rhombus

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vmux2MaR1jAU
https://dl.doubtnut.com/l/_dWkZYDkhCXzo

2x
23.Solve |3 — ?’ <4

D. None of these

Answer: B

o Watch Video Solution

24. In a fraction, if numerator is increased by 2 and denominator is
: : 3 : :
increased by 2, it becomes 7 and if numerator is decreased by 3

4
and denominator is decreased by 6, it becomes 3 Find the sum of

the numerator and denominator


https://dl.doubtnut.com/l/_dWkZYDkhCXzo
https://dl.doubtnut.com/l/_969fhn4DYOpN
https://dl.doubtnut.com/l/_9FQUfWYtRxhy

A 13

B.18

C.20

D. 14

Answer: A

o Watch Video Solution

25.1f 100 cm is divided into two parts such that the sum of 2 times
1
the smaller part and 3 of the larger part is less than 100 cm, then
which of the following is correct ?
A. Larger portion is always less than 60

B. Smaller portion is always less than 60 and more than 40

C. Larger portion is always greater than 60


https://dl.doubtnut.com/l/_9FQUfWYtRxhy
https://dl.doubtnut.com/l/_ZSfjDiaw6nBM

D. Smaller portion is always greater than 40

Answer: C

o Watch Video Solution

26. If 2a — 3b =1 and 5a + 2b = 50, then what is the value of

a— b?

A.10

B.6

C.7

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZSfjDiaw6nBM
https://dl.doubtnut.com/l/_xgp4IqoeuQco
https://dl.doubtnut.com/l/_zBOJPWtBPCy7

27.The fair of 3 full tickets and 2 half tickets is Rs 204 and the fair of

2 full tickets and 3 half tickets is Rs 186. find the fair of a full ticket

and a half ticket.

A.Rs 94

B.Rs 78

C.Rs 86

D.Rs 62

Answer: B

o Watch Video Solution

3 Y
28.If5:13—|—2y: —Ezl,thenx—y:

T
4
Al

B.3


https://dl.doubtnut.com/l/_zBOJPWtBPCy7
https://dl.doubtnut.com/l/_Jh6HrZ6YBO4M

C.2

D.O

Answer: B

o Watch Video Solution

29. If we add 1 to the numerator and subtract 1 from the
denominator, a fraction becomes 1. It also becomes 1/2 if we only
add 1to the denominator. What is the fraction?

A7

B.8

C.2

D. 1

Answer: B



https://dl.doubtnut.com/l/_Jh6HrZ6YBO4M
https://dl.doubtnut.com/l/_vQgsm8ujktzC

| o Watch Video Solution

30.If 4 — 3y = Tzy and 3z + 2y = 18zy, then (xy) =

(11
(23)
B.(3,4)

C.(4,3)
(11
(33)

Answer: D

o Watch Video Solution

1. Jeevesh had 92 currency notes in all, some of which were of Rs 100

denomination and the remaining of Rs 50 denominator. The total


https://dl.doubtnut.com/l/_vQgsm8ujktzC
https://dl.doubtnut.com/l/_UVVD68Eiq4Be
https://dl.doubtnut.com/l/_Qnzuy3pTMGl7

value of amount of all these currency notes was Rs 6350. How much

amount in rupees did he have in the denomination of Rs 50 ?

A.3500

B. 3350

C. 2850

D. 2600

Answer: C

o Watch Video Solution

2.The solution set of the inequation

-5
Ax c <T,OO>
5
B.x € (—oo, §)
)
Cz e <§,OO>

<0
5+ 3z < 0is


https://dl.doubtnut.com/l/_Qnzuy3pTMGl7
https://dl.doubtnut.com/l/_EYcf4P1yPdSh

Answer: D

o Watch Video Solution

3. If 2|z| — |y| = 3 and 4|x| + |y| = 3, then number of possible
ordered pairs of the form (x,y) is

A.0

B.1

C.2

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EYcf4P1yPdSh
https://dl.doubtnut.com/l/_LCjhuuKb7qfG
https://dl.doubtnut.com/l/_YaOfpU2TJERo

4. The solution set formed by the inequations
x > — 7 and y > — Tin the third quadrant respesents a

A. trapezium

B. rectangle

C.square

D.rhombus

Answer: C

o Watch Video Solution

1
5. Find the solution of the inequation m > 2, where x is a
x —

positive integer

A {2, 3}

B.{2, 3,4}


https://dl.doubtnut.com/l/_YaOfpU2TJERo
https://dl.doubtnut.com/l/_Zpk9svN9PmLq

Cx=2

D. Null set

Answer: D

° Watch Video Solution

6. A father wants to divide Rs 200 into two parts between two sons

such that by adding three times the smaller part of half of the

larger part, then this will always be less than Rs 200. How will he

divide this amount ?

A. Smaller part is always less than 50

B. Larger part is always greater than 160

C. Larger part is always less than 160

D. Smaller part is always greater than 40


https://dl.doubtnut.com/l/_Zpk9svN9PmLq
https://dl.doubtnut.com/l/_6frqHAAQzUCi

Answer: B

o Watch Video Solution

7.Solve |7 — 2z| < 13

A3 <zx2<10
B.-3 <z <10
C-10<z<3

D.-3<z <10

Answer: D

° Watch Video Solution

8. If an ordered pair,

x+y=7and 3x — 2y =11, is

satisfying

also

satisfies

the  equations

the equation


https://dl.doubtnut.com/l/_6frqHAAQzUCi
https://dl.doubtnut.com/l/_p0VqEDeHFQYn
https://dl.doubtnut.com/l/_ZDeSqyTVw9e9

3z 4+ py — 17 = 0, then the valueof pis

A2

C.1

D.3

Answer: C

° Watch Video Solution

9.Solve forz: |2z + 3| < 2z + 4

Ax > —2
B.xz > —Z
) 4
Cz < —Z
) 4

D < —2


https://dl.doubtnut.com/l/_ZDeSqyTVw9e9
https://dl.doubtnut.com/l/_ywGFJ2EumYdl

Answer: B

o Watch Video Solution

10. Find the value of x and y, which satisfy the simultaneous

equations 1010x + 1011y = 4040 and 1011z + 1010y = 4044

Az =2,y= —4
Bz =0,y=14
Cx=4y=4
Dz =4,y=0
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ywGFJ2EumYdl
https://dl.doubtnut.com/l/_qNV7fhsk1bEW

11. A bus conductor gets a total of 220 coins of 25 paise, 50 paise
and Rs 1 daily. One day he got Rs 110 and next day ge got Rs 80 in
that the number of coins of 25 paise and 50 paise coins are
interchanged then find the total number of 50 paise coins and 25
paise coins

A. 180

B. 190

C.160

D. 200

Answer: D

o Watch Video Solution

12 The common solution set of the inequations

5 <2z +7<8and 7<3z+5<9is


https://dl.doubtnut.com/l/_IlQwmAkTu6xM
https://dl.doubtnut.com/l/_G6FHeG5WSRLL

D. Null set

Answer: D

° Watch Video Solution

13. The solution set formed by the inequations
x+y>3,x+y <4,z < 2inthefirst quadrant represents a

A. triangle

B. parallelogram

C.rectangle

D. rhombus


https://dl.doubtnut.com/l/_G6FHeG5WSRLL
https://dl.doubtnut.com/l/_59pKZf2iTAOL

Answer: B

° Watch Video Solution

14. Shiva's age is three times that of Ram. After 10 years Shiva's age
becomes less than twice the age of Ram. What can be the maximum
present age (in complete years) of Shiva?

A.30

B.10

C.9

D. 29

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_59pKZf2iTAOL
https://dl.doubtnut.com/l/_TxhfvBmgyP0b

15.1n an ICC Champions trophy series, Sachin scores 68 runs and 74
runs out of three matches. A player can be placed in Grade A of ICC
rankings if the average score of three matches is at least 75 and at
most 85. Sachin is placed in Grade A. What is the maximum runs that
he should score in the third match ?

A. 105

B. 83

C.13

D. 97

Answer: C

o Watch Video Solution

16. The sum of predecessors of two numbers is 36 and their

difference is 4. Find the numbers.


https://dl.doubtnut.com/l/_KjNXmyepsk9Z
https://dl.doubtnut.com/l/_K2CpdBHeTmLh

The following are the steps involved in solving the above problem.
Arrange them in sequential order
AX-14+4Y—-1=36and X -Y =4
(B) Solve for X and Y
QLetX >Y
(D) Let the number be X and Y

A. CDAB

B. CDBA

C. DCAB

D. DCBA

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_K2CpdBHeTmLh

17. The following are the steps involved in solving the equatios
2° +3Y =17 and 2°"! + 3Y"1 = 43 for x and y. Arrange them in
sequential order. (A) Rewrite the given equations in terms of p and

g.(B) Let p = 2* and g = 3Y (C) Solve for x and y (D) solve for p and

q
A. ABCD
B. ABDC
C.BACD
D. BADC
Answer: C

o Watch Video Solution

18. There are two number. The predecessor of the larger number

exceeds the successor of the smaller number by 6. The sum of the


https://dl.doubtnut.com/l/_tkseAMAPnW73
https://dl.doubtnut.com/l/_DPwY1WeSDx13

numbers is 32. Find the numbers

The following are the steps involved in solving the above problem.
Arrange them in sequential order.

AM+N=32and M—1—-—(N+1)=6

(B)Let N < M

(C) Solve for M and N

(D) Let of numbers be M and N

A.BDCA
B. BDAC
C.DBCA

D. DBAC

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DPwY1WeSDx13

19. The following are two steps involved in finding the values of p
and q from 3 + 57 = 52 and 3! + 57! = 14. Arrange them in
sequential order

(A) Letz = 3? and y = 5¢

(B) Solve for x and y

(C) find pand q

(D) Rewrite the given equations in terms of x and y

A. ABCD
B. ADCB
C. ACBD

D. ADBC

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cGuAWqtMUOxT

20.Solveforz:2z —3 < 5x + 9

Az > —4
B.z> —3
Cx> —2
D. > —1
Answer: A

o Watch Video Solution

21. X is an integer satisfying 1 < 2X 4 3 < 7. How many values can

it take ?

A4

B.3


https://dl.doubtnut.com/l/_ks9NzRKdUzHo
https://dl.doubtnut.com/l/_QIWF5dYyD9Pn

C.5

D.6

Answer: A

° Watch Video Solution

22.Solveforxz:5x +4 > x + 12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QIWF5dYyD9Pn
https://dl.doubtnut.com/l/_UCPUmvrSMXv8
https://dl.doubtnut.com/l/_IqEVD9JS5JBY

23. Y is an integer satisfying —3 < 4Y — 7 < 5. How many values

can it take ?

A2

B.4

C.3

D.5

Answer: C

° Watch Video Solution

24. N is a three-digit number. If exceeds the number formed by

reversing the digits by 792. Its hundreds digit can be

A.9

B.8


https://dl.doubtnut.com/l/_IqEVD9JS5JBY
https://dl.doubtnut.com/l/_mscHVYE1DIAs

C. Either (a) or (b)

D. Neither (a) nor (b)

Answer: C

o Watch Video Solution

25. X is a three-digit number. The number formed by reversing the

digits of X is 891 less than X. Find its units digit

A.O

B.1

C.2

D. Cannot be determined

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mscHVYE1DIAs
https://dl.doubtnut.com/l/_MAz3jSA19dwP

1. An examination consists of 160 questions. One mark is given for
every correct option. If one fourth mark is deducted for every wrong
option and half mark is deducted for question left, then one person
scores 79. And if half mark is deducted for every wrong and one-
fourth mark is deducted for every left question, then person scores
76, then find the number of questions he attempted correctly

A. 80

B. 100

C.120

D. 140

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_MAz3jSA19dwP
https://dl.doubtnut.com/l/_ISicgLBpAxY6

2. Runs scored by Sachin in a charity match is 10 more than the balls
faced by Lara. The number of balls faced by Sachin is 5 less than the
runs scored by Lara. Together they have scored 105 runs and Sachin
faced 10 balls less than the balls faced by Lara. How many runs were
scored by Sachin ?

A. 45

B. 60

C.50

D. 55

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_ISicgLBpAxY6
https://dl.doubtnut.com/l/_2YTVYJhn4Yap

3. The number of ordered pairs of different prime numbers whose

sum is not exceeding 26 and difference between second number

and first number cannot be less than 10

A.8

B.9

C.10

D. 1

Answer: d

o View Text Solution

4. The number of possible pairs of successive prime numbers, such

that each of them is greater than 40 and their sum is utmost 100, is

A3


https://dl.doubtnut.com/l/_b3gmZyUV73CU
https://dl.doubtnut.com/l/_rQiKp5qkZZMC

B.2

C.4

D.1

Answer: a

o View Text Solution

5. In an election the supporters of two candidates A and B were
taken to polling booth in two different vehicles, capable of carrying
10 and 15 voters respectively. If at least 90 vehicles were required to
carry a total of 1200 voters, then find the maximum number of votes

by which the elections couble be won by the Candidate B

A.900

B. 600

C.300


https://dl.doubtnut.com/l/_rQiKp5qkZZMC
https://dl.doubtnut.com/l/_bhfyF0sxB4Zy

D. 500

Answer: b

° Watch Video Solution

6. A test has 60 questions. For each correct answer 2 marks are
awarded and each wrong answer 1 marks is deducted. A candidate
attempted all the questions in the test and scored 90 marks. Find
the number of questions he attempted correctly

A. 54

B.48

C.49

D. 50

Answer: d

s ]


https://dl.doubtnut.com/l/_bhfyF0sxB4Zy
https://dl.doubtnut.com/l/_vcM5Fu4xGmke

[ W Watch Video Solution ]

7. Krishna and Sudheer have some marbles with them. If Sudheer
gives 10 marbles to Krishna. Krishna will have 40 more marbles than
Sudheer. If Sudheer gives 40 marbles to Krishna, Krishna will have 5
times as many marbles as Sudheer. Find the number of marbles with
Sudheer

A. 65

B. 55

C.70

D. 50

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vcM5Fu4xGmke
https://dl.doubtnut.com/l/_YNXcU8RGjCQ4

8. In a test, for each correct answer 1 mark is awarded and each
wrong answer half a mark is deducted. The test has 70 questions. A
candidate attempted all the questions in the test and scored 40
marks. How many question did he attempt wrongly ?

A. 15

B. 20

C.25

D.10

Answer: b

o Watch Video Solution

9. Amar and Bhavan have a certain amount with them. If Bhavan

gives Rs. 20 to Amar, he will have half the amount with Amar. If


https://dl.doubtnut.com/l/_GDukov542z5w
https://dl.doubtnut.com/l/_E6YlQfjiAoLf

Amar gives Rs. 40 to Bhavan, he will have half the amount with

Bhavan. Find the amount with Bhavan.

A. Rs70

B. Rs90

C. Rs60

D. Rs80

Answer: d

o Watch Video Solution

15
10. Solve for z: 4z + by + 9z = 36, 6 + Y + 11z = 49

A2
B.1

C.3


https://dl.doubtnut.com/l/_E6YlQfjiAoLf
https://dl.doubtnut.com/l/_etET4elgdCga

D. Cannot be determined

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_etET4elgdCga

